Efficiency vs dr

x 0.
<
©0.09
2'0.08E
c
Q
50.07
=
%0.06
0.05
0.04
0.03
0.02
0.01

Ratio

—=— DQMstep3_TT_CKF

2F%| —— DQMstep3_TT_default
—— DQMstep3_TT_defaultNEWTepol10
vt TR =
1 =8 A sty e dbtdb LR Ll 0 g
107 1072 107 1
TP min AR

[ Efficiency vs dr (track,jet) |

§0.01
00.009
=
%J.OOS
9.007
>
#.006
o
j5=E).005
)
0.004
0.003
0.002
0.001
<0

Ratio

2

15

1

-1

Efficiency vs pu

5 0.0
o

9.009F-
3.008F-
(]

®.007F
=

9.006F
0.005F
0.004F
0.003F
0.002

0.001E-

Ratio

N
TTTTTTTT|

OFE—
9

=
(@]




	Contents
	Page 1


